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GENERAL INSTRUCTIONS
All questions are compulsory. Each question carries I mark.

No cell phones, calculators, books, slide-rules, notebooks or written notes, etc. will be

allowed inside the examination hall.

You should follow the instructions given by the Centre Superintendent and by the
Invigilator at the examination venue. If you violate the instructions, you will be

disqualified.

Any candidate found copying or receiving or giving assistance in the examination will

be disqualified.

The Question Paper and the OMR Response Sheet (Answer Sheet) would be supplied
to you by the Invigilators. After the examination is over, you should hand over the
OMR Response Sheet to the Invigilator before leaving the examination hall. Any
candidate who does not return the OMR Response Sheet will be disqualified and the
University may take further action against him/her.

All rough work is to be done on the question paper itself and not on any other paper.
Scrap paper is 'not permitted. For arriving at answers you may work in the margins,

make some markings or underline in the test booklet itself.

The University reserves the right to cancel the result of any candidate who
impersonates or uses/adopts other malpractices or uses any unfair means. The

University may also follow a procedure to verify the validity of scores of all examinees

| uniformly. If there is substantial indication that your performance is not genuine, the

University may cancel your result.
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How to fill up the information on the OMR Response Sheet

(Examination Answer Sheet)

1. Write your complete Enrolment No. in 9 digits. This should correspond to the
enrolment number indicated by you on the OMR Response Sheet. Also write your
correct name, address with pin code in the space provided. Put your signatures on the
OMR Response Sheet with date. Ensure that the Invigilator in your examination hall
also puts his signatures with date on the OMR Response Sheet at the space provided.

2.  On the OMR Response Sheet student’s particulars are to be filled in by blue/black ball
pen also. Use blue/black ball pen for writing the Enrolment No. and Examination
Centre Code as well as for blackening the circle bearing the correct answer number

against the serial number of the question.
3. Do not make any stray remarks on this sheet.

4. Write correct information in numerical digits in Enrolment No. and Examination
Centre Code Columns. The corresponding circle should be dark enough and should be
filled in completely.

5. Each question is followed by four probable answers which are numbered (1), (2), (3)
and (4). You should select and show only one answer to each question considered by
you as the most appropriate or the correct answer. Select the most appropriate
answer. Then by using blue/black ball pen, blacken the circle bearing the correct
answer number against the serial number of the question. If you find that answer to
any question is none of the four alternatives given under the question, you should
darken the circle with ‘0’

6. No credit will be given if more than one answer is given for one question. Therefore,
you should select the most appropriate answer. '

7. You should not spend too much time on one question. If you find any particular
question difficult, leave it and go to the next. If you have time left after answering all

the questions, you may go back to the unanswered question.

8. There is no negative marking for wrong answers.
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1. Science and technology flourished more in India from fourth century B.C. to seventh
century A.D. during

(1) Satyug period
(2) Gupta period
(3) Hua’s period
(4) Ashoka period

2. Who wrote Ain-i-Akbari ?

(1) Abul Fazal (2) Mirza Ghalib
(3) Jehangir (4) Al-Biruni
3. Printing in India was introduced by the
(1) French (2) British
(3) Portuguese (4) Spanish

4. The first mango produced by grafting was

(1) Langda . (2) Chausa
(3) Alphonso : (4) Pahari
8. The edge-on view of the galaxy appears to consist of ___ and

(1) Centre and border
(2) Disc and halo
(3) Edge and sphere

(4) Radius and circumference

6. Which one of the following is usually not found as a galaxy shape ?

(1) Oval (2) Spiral
(3) Elliptical (4) Irregular
7. The number of days required by the Moon to revolve around the Earth is
(1) 31days (2) 24days
(3) 27-33 days (4) 365 days

8. Identify the mismatched pair :
(1) Mars - Red planet
(2) Mercury — Clouded planet
(3) Saturn - Ring planet
(4) J upitef — Giant planet
FST-01 6
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9, Identify the vitamin responsible for absorption of Calcium and Phosphorus in the
body :
(1) Vitamin A
(2) Vitamin K
(3) VitaminD
(4) Vitamin B,

10. Potatoes are rich in
(1) Fats (2) Minerals
(3) Vitamins (4 Carbohydrates

11. Identify the protective foods from the following pairs :
(1) Carbohydrates and Fats
(2) Proteins and Water
(3) Vitamins and Minerals
(4) Proteins and Carbohydrates

12. Basic functional unit of brain is
(1) Axon
(2) Neuron
(3) Nephron

(4) Neurotransmitter

13. hormone secreted by the pituitary gland inhibits urine production.
(1) Oxytocin (2) TSH
(3) ADH (4) ACTH

14. Psychological instability of astronauts in space is due to
(1) loneliness
(2) weightlessness
(3) - absence of sensation from outside
(4) All of the above

15. Complete the food chain given below :

Grass — Grasshopper — — Snake — Peacock
(1) Cow (2) Frog
(3) Earthworm (4) Buck
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16. Deforestation is considered to be leading to
(1) Environmental imbalance
(2) Unimpeded flow of rainwater leading to floods
(3) Washing away of top soil in mountains
(4)  All of the above

17. is considered useful for the production of potatoes, bananas and rubber.
(1) Soil in river deltas |
(2) Red soil
(3) Black soil

(4) Mountain soil

18. Who discovered circulation of blood in the human bedy ?
(1) Harvey (2) Pluto
(3) Galileo (4) Napier

19. Paper manufacturing in India was introduced by the

(1) Arabs
(2) Chinese
(3) British

(4) Spanish

20. Trophic level to which an organism belongs indicates how far away it is from
in the food chain.

(1) Proeducer
(2) 1° consumer
(3) Decomposer

{(4) 3° consumer

21. is everything that affects an organism from the outside.
(1) Atmosphere
(2) Hydrosphere
(3) Environment

{(4) Forest
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22.

23.

24.

25.

26.

217.

Which of the following are examples of decomposers ?
(1) Bacteria and Fungi

(2) Fish and Crab

(3) Both (1) and (2)

(4) None of the above

Nitrogen fixing bacteria is capable of converting atmospheric nitrogen into
(1) Amino acids

(2) Nitrate
(3) Nitrite
(4) Ammonia

Example of a non-persistent pollutant is
(1) Pesticide '
(2) Plastic

(3) Animal waste

(4) Nuclear waste

Which of the following méinly corrodes metals like zinc and building stones ?
(1) NOgq (2) SO0g

(3) Og (4) PAN

Physical forces like condensation and evaporation drive which of the following cycles ?
(1) Water cycle

(2) Nitrogen cycle

(3) Carbon cycle

(4) All of the above

Many organisms produce their own light, a phenomena known as bio-luminescence.

This helps these organisms to
(1) Capture their prey

(2) Lure the opposite sex
(3) Both (1) and (2)

(4) None of the above
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28. Identify the correct statement :
(1) Radioactive wastes do not require any special treatment.
(2) Radioactive waste materials are biodegradable.
(8) Exposure to radiation is beneficial for health.
(4) Nuclear wastes belong to the category of persistent pollutants.

29. “Chipko Andolan” started in Garhwal district of Uttar Pradesh in 1970 and was a

movement for conservation of
(1) Rivers

(2) Trees

(3) Wildlife

(4) All of the above

30. Which of the statements given below can be classified as an example of personal

communication ?

(i) Discussion between two friends about a cricket match.
(i) Politician addressing an election rally.

(iii) An Editorial in a newspaper.

(iv) IGNOU sending study material to learners.

Choose the correct answer :

() G) and (ii) @) () and (i)
(3) (i)and (Gv) (4) (i) and (iii)

31. Arrange the following steps of human evolution from early to later stages :
(i) Use of copper
(i) Use ofiron
(iii) Use of stone
(iv) Invention of wheel
Choose the correct answer :
(1) (i) — 3{i) — 3id) - {v)
(2) (i) - (i) —» 1) - Gv)
(3) il » @) — () - 3v)
4) () - (i) - (v) - ()
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32. The concept of spontaneous generation of life was disapproved experimentally in the

laboratory by
(1) Aristotle
(2) Pasteur
(3) Darwin
(4) Miller

33. The theory of natural selection was proposed by
(1) Oparin and Haldane
(2) Lamarck
(3) Darwin
(4) Miller

34. The evidence of partial fossil remains of ‘Lucy’ found in Ethiopia is
evidence in human evolution.
(1) Palaeontological
(2) Biochemical
(3) Archaeological
(4) Physiological

35. The most commonly used semiconductor is
(1) Lithium
(2) Nitrogen
(3) Silicon

(4) Germanium

36. Which isotope of uranium has the capacity to sustain chain reaction ?

(1) U-245
(2) U-235
(3) U-230
(4) U-225

87. The first hybrid cotton was developed by
(1) China (2) USA,
(3) Brazil (4) India
FST-01 16
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38.

39.

40.

41.

42,

43.

44,

Alkaline soils are rich in

(1) Sodium, calcium and potassium

(2) Chlorides and sulphides of sodium

(3) Carbonates and bicarbonates of sodium
(4) All of the above

Which of the following is a source of protein in a vegetarian diet ?

(1) Fruits : (2) Nuts
(3) Green vegetables (4) Pulses
One light year is kilometers.

(1) 946 x 10°

(2) 946 x 102
(3) 946 x 1018
(4) 946 x 100

A young star is largely composed of the following gas :
(1) Hydrogen (2) Oxygen
(3) Helium (4) Carbon dioxide

Human body emits which of the following radiations ?
(L UV , 2 IR
(3) X-rays (4) Microwave

The huge amount of energy released in a dynamic activity by the Sun in a short span
of time is known as

(1) Solar corona
(2) Solar thrust
(3) Solar wind
(4) Solar flare

Which of the following defines renewable resources ?
(1) They are inexhaustible

(2) They cannot be regenerated

(3) They are present in limited quantity

(4) They cannot be used repeatedly
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45.

46'

47.

48.

49.

50.

Which of the following constitutes soil resources ?
(1) Sand, silt and clay

(2) Air and moisture

(8) Organic and mineral nutrients

(4) All of the above

Which one of the following combinations of nutrients are supplied by eggs ? Select the
best option.

(1) Carbohydrates only

(2) Proteins, fats and vitamins

(3) Carbohydrates, proteins and fats
(4) Fats only

Which of the following statements is true regarding Science ?
(1) Science has done nothing to dispel fear.

(2) Science has nothing to do with our everyday experiences.
(3) Science helps to explore the natural world around us.

(4) Scientific knowledge is acquired only through ocur senses.

Which of the following cities was not a part of the Indus Valley Civilization ?
(1) Harappa

(2) Mohenjodaro

{3) Lothal

(4) Kochi

Which of the following was not an astronomer during the period known as the Golden
Age of Science ?

(1) Charak

(2) Aryabhatta
(8) Varahamihira
(4) Brahmagupta

During the Iron Age, which civilization contributed towards the growth of
mechanics ?

(1) <Chinese (2) Greeks

(3) Indus  (4) African
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51. Which of the following gases is least likely to have existed in the early atmosphere of

the Earth ?

(1) Carbon dioxide
(2) Oxygen

(3) Hydrogen

(4) Ammonia

52. Major cause/s of loss in soil productivity is
(1) Salinity of soil
(2) Waterlogging
(3) Soil erosion
(4) All of the above

53. Migration from rural areas. can be checked by
(1) Setting up of rural industries
(2) Improving living conditions in the villages
(3) Both (1) and (2)
(4) None of the above

54. Which of the following gases is not produced during fermentation ?
(1) Carbon dioxide
(2) Oxygen
(3) Methane
(4) Hydrogen sulphide

55. Which of the following is a one-way process ?
(1) Cycling of nutrients in an ecosystem
(2) Energy flow in food chain
(3) Both (1) and (2)
(4) None of the above

56. Cerebrum is the largest part of the
(1) Hindbrain
(2) Midbrain
(3) Forebrain
(4) Spinal cord
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51

52.

53.

54.

55.

56.
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o 851 & YaET % STaER S gra Frafya forar s whar 2
(1) ufior SE ST TTeA

(2) el # W gemed H guw

@) (1) (2)

@) Sugw ¥ @ o1 T

frefafga # @ S5 Ag frvam & A 78 73 2
(1) e SRATTATES

(2) HAfedeE

(3) AN

(4) TEGSH HOHEE

Freaferfiga #§ & -6 weate ufsea 3 2
(1) 9iias o greeh-awat 1 Tehvl

2) W FEa ¥ Hi 1 a8

(3) (13 (2) BA

@) 3Iugw § @ w1 T

g, fraes! gad 91 "I B ?
(1) uvw ufeass

(2) " uieTsh

(3) o uftass

4) {5 H e (3 )
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57. Rubber articles, paintings and textiles get discoloured due to
(1) Nitrogen oxide
(2) Sulphur dioxide
(3) Carbon dioxide
(4) Ozone

58. Carbon dioxide is utilized during
(1) Photosynthesis
(2) Respiration
(3) Emission

(4) Blazing

59. Who invented the Crescograph ?
(1) J.C. Bose
(2) William Harley
(3) K. Telang
(4) B.N. Seal

60. Scientific knowledge as well as law is based on

(1) Views
(2) Reasons
(3) Faiths

(4) Feelings

61. is essential for strong teeth.
(1) Calcium
(2) Iron
(3) Zinc

(4) Chloride

62. Citrus fruits and guava are rich in
(1) Vitamin C
(2) Vitamin B
(3) Vitamin A
(4) Vitamin E
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57.

58.

59.

60.

62.

g 9 74 gmM, dfdn it wugt snfe &1 i % HIUT FlehT Yg AT R |
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(3) e TEAFAEE

(4) AN

e SHATHATES 1 FHTA 3w TR g
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(2) vEEd

(3) IFwH

(4) wHEE

HERIUTE T ATTHR fFa fmar 2
(1 @ 9=

2 faferam gt

@) H.A. q=m

(4) €@, d@ia

AP T | & s fagia, fea W antie @ @ 2
1) =R |

(2) Wh

(3) AR

(4) o

61.
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(1) Ffeam |
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3 T
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1) foerfm
2) Teerfim st
3) frfmu
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65.

86.

67.

69.

Cells responsible for producing antibodies are

(1) RBC (2) WBC
(3) Hepatic (4) Stem
Amoebic dysentery is a/an borne disease.
(1) Food. (2) Air

(3) Water B (4) Contact

Kwashiorkor and Marasmus are caused due to deficiency of
(1) Carbohydrates

(2) Proteins

(3) Fats

(4) Minerals

The moderator used in nuclear reactors is
(1) Graphite

(2) Plutonium

(3) Thorium

(4) Beryllium

" The chemical origin of life was proved experimentally by

(1) Lamarck
(2) Darwin
(3) Pasteur
(4) Miller

Life appeared first on/in
(1) Water (2) Air
(3) Land . {(4) Plants

Which of the following light rays are used by doctors in surgery ?
(1) Visible light

(2) UV light

(3) LASER

(4) All of the above
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63. Uaidis R 3 FReER Hifed §
(1) AR : (2) SecqfH

(3) wIR 4) Bu

64. orfiefi IR @fsﬁmﬂﬁ%
(1) WA ’ (2) 913
3) = (4) TYH

65. FETRMERERI 3 g@r I # FH Y AT TG
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2 W=
(8 T
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(1) IwrEe
(2) s
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67. S 6 TaEfe St B TR &9 @ feaw fig e an 2
(1) «HEh
(2 wrRA
(3). UW=R
4) frew

68. SiIaH T AN HATUT Fal T ?
(1) 9 H | 2) IPH
3 W= (9 dwid

69. Frfuftan & § wR-d S 61 el o s, Rifeeast g weafafean & S Rean
A e ?
(1) 7T T
(2) WS SR (. tmsa)
(3) WM
@) g wft
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70.

71.

72.

73.

74.

75.

76.

717.

Chicken pox is caused by

(1) Virus (2) Bacteria

(3) Fungi (4) Worms
is an example of non-infectious disease.

(1) Malaria (2) Diabetes

(3) AIDS (4) Cholera

Which of the following is used as a navigation tool ?

(1) Windmill (2) Watermill

(3) Horse collar (4) Compass

In 1942, Columbus discovered

(1) India (2) America

(3) Austraha (4) Brazil

Science, when applied to develop new materials or processes becomes

(1) Technique (2) Technology

(3) Art (4) Power

Indiscriminate use of sources of energy has posed energy crisis and

environmental hazards.
(1) Non-conventional (2) Water
(8) Conventional (4 Windmill

The New International Economic Order (NIEO) was declared by the UNO in the year
(1) 1970 (2) 1972
(3) 1974 (4) 1978

Flow of trained human resources from developing countries to the developed world,
for better work and monetary opportunities is known as

(1) Human trafficking
(2) Immigration
(3) Money laundering

(4) Brain drain
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71.
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74.

75.

76.
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78.

79.

80.

81.

82.

83.

Which of the following are required for the effectiveness of media and information

communication ?

(1) Reach to vast audiences

(ii) Entertainment

(1ii) Social relevancé

(iv) Traditional approach

Choose the correct answer :

(1) Only (i) and (i1) (2)
(3) Only (iii) and (iv) (4)

Human factor engineering deals with
(1) Human emotions

(2) Efficiency in working environment
(3) Human behaviour

(4) Human intelligence

Only (i) and (ii)
Only (i), (ii) and (iii)

According to Piaget’s theory, which age is suitable for introducing abstract concept of

learning ?
(1) 11 years onwards (2)
(3) 2to7 years (4)

A major profession in India is
(1) Business (2)
(3) Weaving 4)

7 to 11 years
Birth to 2 years

Agriculture
Industry

The first co-operative research association was set up in 1950 in Ahmedabad for

industry.
(1) Textile (2)
(3) Jute (4)
In 1953
field.
(1) NDRC » (2)
(3) CSIR (4)
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79.

81.

82.
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84. Funds to higher educational institutions are provided by
(1) CSIR (2) NAAC
3 UGC 4) TPIC

85. When importing technology, the receiving country must ensure that it is

(1) Cheapest (2) Costly

(3) Fastest (4) Latest
86. “Saptarishi” consists of number of stars.

1) 6 2 7

(3) 67 @ 77

87. The phenomenon of shifting of nearby stars against the background of more distinct

ones is known as
(1) Solar parallax (2) Hubble parallax
(3) Stellar parallax {(4) Limelight parallax

88. Adding of baking soda while cooking destroys the following nutrients :
(1) Proteins (2) Vitamin C
(3) Fats (4) All of the above

89. Of all the inventions in the West, which of the following had the greatest effect
politically, economically and scientifically ?

(1) Paper (2) Compass
(3) Lenses (4) Gunpowder

90. Rotation of Earth and other planets was explained in the 15th century by
(1) Pluto (2) Aristotle

(3) Copernicus (4) Vasco da Gama

91. Discovery of saltpetre (freezing mixture) is attributed to

(1) Akbar (2) Babar

(3) Jehangir (4) Shah Jahan
92. Modern science arose in the

(1 11" century ) 12% century

(3) 14tk century (4) 16tk century
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93. Archaeological excavation at Zawar in Rajasthan suggests that Indians knew how to

isolate
(1) Cadmium (2) Lead
(8) Zinc (4) Chromium
94. The spacecrafts that move in an orbit around the Earth are called
(1) Artificial satellites (2) Natural satellites
(3) Launch vehicles (4) Robots
95. Technology involving passage of light through glass wires as thin as human hair is
known as
(1) Information technology (2) Fibre optics.
(3) Space technology (4) Bioinformatics

96. Nuclear fission is
(1) Joining of nuclei of two atoms
(2) Splitting of a large nucleus into two small nuclei
(3) Splitting of electrons of an atom

(4) Formation of heavier atomic nuclei

97. Heart of the computer system is

(1) Software (2> RAM
3) CPU | (4) Monitor
98. Commentaries considered to be the main Indian treatise on medicine were composed
by
(1) Ashoka (2) Aryaputra
(3) Sulva Sutra (4) Patanjali

99. Which of the following does not add to eutrophication ?
(1) Rainwater
(2) Organic waste from milk plant
(3) Waste from tanneries

(4) Waste from fisheries

100. Development of science and technology is influenced by
(1) Economic needs of the society
(2) Cultural and value systems of the society
(3) Needs of the society
(4) All of the above
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